
E 3797-1121

1

2

4

5

6

7

8

9
10

2

11

12

13
14

15

16

17

19

18

27

29

21

20

22

22

23

23

2425

25

25
 

26

26

28

28

30

  MA=15Nm

MA=10Nm

MA=10Nm

33

33

3

31

32

18

28

34

35

19



E 3797-1121 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 11002418   31 4 21001340  DIN7976-8x22 

2 1 11002446   32 4 25049026  DIN7349-8,4 

3 6 25038013  DIN933-M10x20 33 8 25048003  DIN125-A10,5 

4 6 20029025  Nord-Lock 10,0 34 1 25038014  DIN933-M10x25 

5 2 11002447   35 1 20022003  Tensilock M10 

6 2 11002448          

7 8 21001437  ISO7380-M8x16        

8 1 21001406          

9 2 25038010  DIN933-M8x35        

10 2 20029024  Nord-Lock 8,0        

11 1 11002451          

12 3 25038006  DIN933-M8x16        

13 3 20029021  SKB 8        

14 1 11002453          

15 2 25038011  DIN933-M8x40        

16 2 20029021  SKB 8       

17 2 25031013  DIN985-M8       

18 2 11002490         

19 2 11002525         

20 4 25038015  DIN933-M10x30         

21 4 25031014  DIN985-M10         

22 1 21001409           

23 2 25038016  DIN933-M10x35         

24 1 25048003  DIN125-A10,5         

25 4 25049020  DIN7349-10,5         

26 2 25031014  DIN985-M10         

27 3 25038015  DIN933-M10x30         

28 7 25048003  DIN125-A10,5         

29 3 25031014  DIN985-M10         

30 1 20025617  0,17 m x 0,20 m         

11.21        



E 3805-0320

1

2

5

3

4

6

6

78

9

10

12

12

13

14

15

16

17

18

19

20

21

22

23

2425

26

27

28

29

30

31

32

34

33

35

36

MA=10Nm

MA=20Nm

MA=10Nm



E 3805-0320 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 11002679   31 4 21001258  S 5 

2 1 11002455   32 1 20007004   

3 8 25038063  DIN933-M10x16 33 1 25038007  DIN933-M8x20 

4 8 20029025  Nord-Lock 10,0 34 1 25048002  DIN125-A8,4 

5 4 21001561   35 1 20029003  VSK 8 

6 8 20029031  SKM 8 36 1 25031003  DIN934-M8 

7 4 25031003  DIN934-M8        

8 2 11002490          

9 2 11002525          

10 4 25038015  DIN933-M10x30        

11             

12 8 25048003  DIN125-A10,5        

13 4 25031014  DIN985-M10        

14 4 25033023  DIN603-M10x25        

15 4 25031014  DIN985-M10        

16 1 11002451         

17 3 25038073  DIN933-M8x12       

18 3 20029024  Nord-Lock 8,0       

19 1 11002453         

20 2 25038010  DIN933-M8x35         

21 2 20029031  SKM 8         

22 2 25031003  DIN934-M8         

23 1 21001406           

24 2 25038010  DIN933-M8x35         

25 2 20029024  Nord-Lock 8,0         

26 1 11002459           

27 2 21001438  ISO7380-M6x14         

28 2 20029020  SKB 6         

29 1 21001407           

30 4 21001560  ISO7380-M5x12         

02.21        



E 3814-0221

1

2
3

4

6

7

8
9

5

10
11

12

13

14

15

MA=10Nm

16

17

100



E 3814-0221 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 11002454          

2 4 25047022  DIN7991-M6x12        

3 4 25005002  DIN6798-V6,4        

4 1 21001473          

5 1 41001093          

6 1 11002543          

7 2 25033035  ISO7380-M8x30-10.9        

8 1 25048002  DIN125-A8,4        

9 1 25031013  DIN985-M8        

10 1 25048002  DIN125-A8,4        

11 1 20025431          

12 1 20007004          

13 1 25048002  DIN125-A8,4        

14 1 20029003  VSK 8        

15 1 25038007  DIN933-M8x20        

16 1 12000352         

17 2 21001699  M5x25       

             

             

               

               

               

               

               

               

               

               

       100 1 60002140  Polymer-Klebstoff 

               

              Ab Serien-Nr.20049765 

02.21        



E 3806-1220

1

2

2

3

4

5

6

7

8

9

13

13

14

 

15

1516

16

17

17

 

14

18

MA=10Nm

  

19

10

1112

21

 

 

 

20

20



E 3806-1220 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 11002420          

2 2 11002491          

3 4 20022018  Tensilock M8x20        

4 4 21000680  DIN603-M10x45        

5 4 25031014  DIN985-M10        

6 1 11002458          

7 4 25038006  DIN933-M8x16         

8 4 20029024  Nord-Lock 8,0         

9 1 12000312           

10 3 25044110  DIN912-M6x40        

11 3 25049034  DIN7349-6,4        

12 2 25048001  DIN125-A6,4        

13 1 21001409          

14 4 25049020  DIN7349-10,5        

15 2 25038016  DIN933-M10x35        

16 2 25048003  DIN125-A10,5       

17 2 25031014  DIN985-M10       

18 4 25048003  DIN125-A10,5       

19 1 21001458         

20 3 21001697           

21 3 20029007  VSK 6         

               

               

               

               

               

               

               

               

                

12.20        


